Sk

g
Tl
>

1. ¥¥4
¥4 SR 7 AEEILIUNEREE NASEIRRE (20 1) #¥5
JBA T SN EE F BT N

2. HHINE
TN ERRSTT  FHmiss i

1) FEF4
2) BT 169 HH H 4&fn 74 67134
= S THE11H28H

3) &FEtHM
ARZEFSIL, EHOMITHE D R - REOREICS R OE R RIREHH ORET O
T2 O DIHEERZ55 Z L2 HE LT, HNORIEIRNME L ET 2 H DT

%,

4) FEHBNA
B TEORRIER ) BLO TRREHAE) o LBb,

VEN

E+sZi@E SN



I

BN

Tl
P

==
=]

¥4 | AT EEIDUNEREEARZERRGE (20 1) ¥5 Eg =
H H AR A
THH - THE - FER A7 5 4 H OB N AR
AR A = 5,572, 249
AR DR A 2V 5,572, 249
A FEREFH A X 5,572,249 | 1E¥3
1 =X
TRV
1 =X
R 7 R IT R A i e A
5 &P
MEAZFER (12571A) 120N TELA
AR 7% R IT R A T R A
1 T
M RRZER (12771) 128F[E 7 A8
AR 7% R IT R A T R A
1 T
MEAZFER (1251A)  12BERICCTVELA
MBI A i E R AT
2 T
12RERAE 7 A (2H#R)
Vo A A2 E8 AT
1 £
12RERAE 7 A (458R)
Vo A A2 E8 AT
1 50
12FERICCTVELH (23R
e RAA
5 &P
47518 GHHEIELH
BiS i = 214, 600
EAS il Y 214, 600
-1 - EEAZmE  Fu T R



i

I
St

il

\
Y/

%lljll
I

EBA | AT AEEIEUNEEE N ERRE (T 1) EB

=

i >h&
& (i

THH - T - fER] 4 % G
I = 214,600 | ¥TA%
1 X
[R5 S =4 2y 99, 616
[ERES S 2y 99, 616
TR =X 18,616 | Jik# (EEFL - 15701E)
1 X
Ty 2 81,000 | FEFHRAIERE
1 A
TEE = 5, 886, 465
B3Ny = 4,583, 535
HatS = 4, 583, 535
T ESEG Mk X 10, 470, 000
-2 - E A28 SUNHT R



